TASK Collecting like terms (1/2)

Date:

eg Simplify 10x — 10y — 9x — 3x 10x + (=10y) + (—9x) + (—3x) —2x — 10y
. 5 " < = 10x + (—12x) + (—10y)
x -» -x -x ~ =
x -» EN N - 5
X -y = ¥
x -y = ¥
3 N 3
x - -x _‘}'
x - X el
RY -y -y
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(D Simplify 3x% + 5y + 4x — 2x2 — 7y + 2 3x2+5y +4x + (—2x3) + (=7y) + 2
; 2 =3x%+ (—2x*) +4x+ 5y + (-7y) + 2
' ; " 5 . S
Y rd X -y
x X 'j' i :
(2) Simplify 4xy + x — 2y + 6yx 4xy + x + (=2y) + 6xy
= 1 [+ = 4xy + 6xy + x + (—2y)




TASK Collecting like terms (2/2)

Date:

Simplify by collecting like terms:

(3)

2x% 4+ 4x + 5y — x? — 2x — 8y

(4)

3x+y—8z+y—5x+2y+2z

(5)

4+ 6x°% +8x —3x% +5—14x

(6)

—8y +3x2 + 7x — 8y — x% — 2x + 2x? + 3x + 4y

(7)

—3—4x—y+9x+ 11y —12

(8)

2x% + 3xy — 12y? + 10yx + 3y% — xy — 9y? + 4x?

9)

—11y + 12xy + 10x — 4yx — 10y + 4x

(10)

15x% + 14x — 15y + 8 — 7x2 + 10 + 2x — 2+ 6y + 16 — 15y




TASK Collecting like terms (1/2) Date:

eg Simplify 10x — 10y — 9x — 3x 10x + (—10y) + (—9x) + (—3x) —2x — 10y
. = 10x + (—12x) + (—10y)
x -y -X -X x -y
X -y -x -x = >
x -y =X -y
: z
3 - -
. : ?
»
(1) Simplify 3x% 4+ 5y + 4x — 2x% — 7y + 2 3x2+5y+4x + (-2x3) + (-7y) + 2 2 + B
: 2 H =3x?+(-2x) +4x +5y+ (=7y) + 2 X b ,fj t2
¥ J ) x -y
X -x ':V ’ :
(2) Simplify 4xy + x — 2y + 6yx 4xy + x + (=2y) + 6xy
s ) [ EEm— = 4xy + 6xy + x + (=2y) IOx.j t QC_-—QU
- ' e e L - ] +




TASK Collecting like terms (2/2) Date:

Simplify by collecting like terms:

(3)

2x% + 4x + 5y — x? — 2x — 8y
= Qx? +(-2%) +yx+ (-2x) +Sy +(~8'5) = 2% 42x -3y

(4)

3x+y—8z+y—-5x+2y+2z

< 3ot (-5x) +y+y+ 23 +(-82) 422 = —20¢c +4Yy bz

(5)

44+ 6x% +8x—3x%2 +5—14x

= Lo +(-25c%) +&x +Clgx) p4+5 = R3x* —Coe +9

(6)

-8y +3x*+7x—8y—x*—2x+2x*+3x+ 4y

(7

= 322 4 (-x*) +2¢ + o +(-2x) +3¢ + (-'83) -l'(-'gtb -l-ll—g = Lo 4 R -2y

—3—-4x—-y+9x+11y—12

(8)

= b2 e P+ 4D (1) = Sx A0y aS

2x% + 3xy — 12y% + 10yx + 3y% — xy — 9y? + 4x?

9

= sz—ra-xz + ("‘lzt'z) ”"3‘:12-(" ("'?j&> "'gx'-{ - lQDt.q «(—(——x"{) - sz. _lxqz +(21&
—11y + 12xy + 10x — 4yx — 10y + 4x hd J - S

= Lo + 10 4 (-lg) + (-0 + 12y ¢ (—-l.f-au_-p = l4x —2)y + 8xy

(10)

14

15x% + 14x — 15y +8 — 7x> + 10 +2x — 2 + 6y + 16 — 15y

1S + (222 t1ox +2x +£185y) wby 4 (15D +EHO +(-2) 4\

= ¥x? + 162 Mj-l'%l



